
The Bóthar Quiz 
Junior Cycle
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Bóthar works in 16 countries around the 
world. Can you identify these four?

A:  _____________________________________

B:  _____________________________________

C:  _____________________________________

D: _____________________________________

What do the following initials stand for?

WHO: __________________________________

MDG:  __________________________________

Unscramble the names of these Bóthar project countries around the world:

INACH          OVSOKO          UGALAMETA          SHLEBAGDAN          RINKABU-SOFA

_______         _________          ____________          _____________          _______________

Bóthar works 
with five of the 
animal types 
pictured here. 
Can you circle 
the correct 
ones?

Circle the correct answers:

The total population of the world is over         7 million	   /     700,000	  /    7 billion        people.

3 billion people in the world live on less than	 €2      /     €15     /     €25	     per day.

An Irish dairy goat produces	  500 ml     /     50 litres	   /    5 litres        of milk per day.
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